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1.

principal is 15 years. When the principal’s

age is excluded, the average age decreases

by 1 year. What is the age of the principal?
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2. Three years ago, the average age of A, B 2. a7 ad uga, A, B 3R ¢ F 3 1Y 27

and C was 27 years and thatof Band C 5

years ago was 20 years. A’'s present age is
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3. Ajit has a certain average for 9 innings.In 3. 9 mﬁu’i # 3fora &1 ve Afda sta 21
the tenth inning, he scored 100 runs Z9d Ut # IR 100 ¥ ¥9¢ R
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thereby increasing his average by 8 runs.

His new average is ?.:
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4. The average age of 8 persons in a 4. wmftamﬁaﬁaﬂmmz

committee is increased by 2 years when W\'ﬁl’l‘tﬁ?ﬂ!ﬁﬂ@? 45 Hﬁlﬁmtﬁ
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substituted by two women. Find the afgarat P 3 3T maﬂhm
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5. The average weight of the class of 29 5. 29 BTl # F&T HT 3T Toi+ 40 fFarum

students is 40 kg. If the weight of the g1 af fr &1 g+ e fFar se,

teacher is included, the average rises by 500 UTH CIGIH %I ﬂl&mr &1 994
500 gm. What is the weight of the feaar Staw=- > 7 K\1 5
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6. If we take four numbers, the average of
the first three is 16 and that of the last
three is 15. If the last number is 18 then

the first number is
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7. The average of 5 consecutive numbers 7. 5 PHNTI g/;[gﬁ &1 39d n 21 afe 3rTeht
is n. If the next two numbers are also 2 FEe At e & & 9 At it

included, the average will.
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8. The average of 50 numbers is 38. If two g 50 @il &7 3ff9d 38 21 afe 3 Wwmait
numbers namely 45 and 55 are discarded, ami'a[ 45 30X 55 &1 mﬁm WIg, GIRL ]

the average of the remaining number is &I BT N &
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12. The mean temperature from Monday to
Wednesday was 37 and from Tuesday to
Thursday was 34. If the temperature on
Thursday was 4/5 that of Monday, the

temperature on Thursday was
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15.In a class, there are three groups A, B and C. If ;¢ Wﬁmﬂ.?ﬂq'\‘“{ﬁk B ah;cgrqﬁm‘\ﬁ

one student from group A and two students
from group B are shifted to group C, then what
happens to the average weight of the students
of the class?
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a) It increases.
b) It eases.
\ﬂaiw the same.
d) No conclusion can be drawn due to
insufficient data
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